




















































































ST 02 Week 15

Settings given an i i d random sample I i

from some population with mean µ
and variance 02

Def The Least Squares Estimator LSE of his
A mianFILE a1

and actually x ̅

Fact MSE I ECI 112
Quite often we can only approximate it

By CLT we know when n is large

I Ny
Then

pcl.IM 1.96 0.95

PCIE MI 1.96 1 7095

Def The estimated standard error of is

E S.E.CI In n ETC i 123
















































Def Let 10 fix xn 01 be the joint probe
density function of 8 v s Ii The maximum

likelihood estimation of 0 is

my 110

RK Log likelihood Ico ln 210 3

Rk Invariance Principle

If B is MLE of 0 the 9181 is MLE of 910

1 Not as easy to understand as it looks


